


(Scientiﬁc Notation)

\
J Simplify and express in scientific notation:
Example 1 Example 2
(610 (2x107) 18X10° _ 18 , 108 10
(6x10°) 2% 10% = 12x10°x 10° 4x10 4
= 12x10° = 45x10°
P = 1.2x10°
Simplify each problem and express the answer in scientific notation.
1) (7x10% (9% 10% 5) 3x10°
8x10
Answer : X 10 Answer : X 10
9
gy SXI0 4) (2x10% (3 x10%
5% 10’
Answer : X 10 Answer : X 10
5) (3x107)(9x10° 6) AR,
 ERT1010X 16 x 10°
Answer : X10 Answer : X 10
9x 10°
7 8) (11 x10% (7 x10?
) o ) ( ) ( )
Answer : X 10 Answer : X110
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